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Maths Answers 

Lesson 1 

1. a)  

 

 

 

b)  

 

 

 

c) 

 

 

 

 

d) 

 

 

 

2. C is longer than B. 

A is the longest train. 

B is the shortest train. 

 

3. a) Rosie is the tallest. 

b) Mo is taller than Annie. 

c)Annie is the shortest. 
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Lesson 1 (continued) 

 

 

 

 

  

Red Task 

1. B 

2. Taller 

3. B is the longest. 

 

Gold Task 

1. B 

2. Rabbit, sheep 

3. Longer 

4. 2 possible answers: 

a) C, A, B – shortest to longest 

b) B, A, C – longest to shortest 

Deepen the moment 

1. Ryan is incorrect because the glue stick is shorter than 

both the pencil and the paintbrush. 

2. Various answers:  

The bowl is longer than the glove; The glove is longer 

than the key; The key is shorter than the bowl. 
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Lesson 2 

 

1. a) 6 

b) 8 

c) 5 

 

2. No. The pen is 4 ½ cubes long. 

 

3. No. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Red Task 

1. 6 

2. 4 

3. C 

Gold Task 

1. 5 

2. 3 

3. A 

Deepen the moment 

1. Sam is correct but needs to say that both glue sticks 

are 5 small blocks long. The glue sticks are the 

same length. 

2. 5, 6 or 7 cubes. 



 

Year 1 Answer Pack 

Lesson 3 

1. a) 12cm 

b) 7cm 

c) 9cm 

 

2. a) 6cm 

b) 10cm 

c) The red ribbon is longer. 

 

3. a) 9cm 

b) 5cm 

c) 6, 7 or 8cm 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Red Task 

1. 2cm 

2. The crayon is 5cm. 

The glue stick is 3cm. 

3. 2cm is less than 3cm. 

Gold Task 

1. 6cm 

2. The fork is 4cm. 

The spoon is 3cm. 

3. 5cm > 3cm 

 

Deepen the moment 

1. Zach has left a gap between the toys. Th helicopter 

and the dinosaur measure 6cm in total. 

2. Ella’s fork is being measured. The fork measures 

4cm. 
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Lesson 4 

1. a) 14 cubes 

b) 10 cubes 

 

2. a) 19 paper clips 

b) 11 paper clips 

c) scissors and rubber 

d) two possible answers: 

 scissors and pencil/book and rubber 
 

 Red Task 

1. 11 

2. 12 

3. 7 cubes + 6 cubes = 13 cubes 

Gold Task 

1. 11cm 

2. 17cm  

3. 10cm 

4. 2 cars and 2 trucks 

or 

5 cars and 0 trucks 

 

 
Deepen the moment 

1. No. The fork measures 4cm and the spoon measures 6cm 

so the total measurement is 10cm. 

2. Yes.  

3 forks (4+4+4) or 2 spoons (6+6) 
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Lesson 5 

1. 25, 30 

2. 14 

3. Seventeen 

 

4.  

 

5. 9 

6. 14 

7. 24 

8. 13cm 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Deepen the moment 

The total length of two snakes would be 26cm because 13+13=26. 
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English Answers 

English Lesson 1: To answer comprehension questions based on a text. 

1. A bike with two wheels is the best kind of bike! 

2. The park. 

3. Fall off the bike. 

4. Any one of the following: 

Fast, faster, flying 

5. To ride a bike. 

 

English Lesson 2: To read and edit sentences. 

1. Today is Tuesday. 

2. Mrs Armitage rides on her bicycle. 

3. The author of ‘Mrs Armitage on Wheels’ is called Quentin Blake. 

4. Quentin Blake was born near London. 
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Reading for Productivity Answers 

Reading for Productivity Lesson 1 – Music 

1. Music and dance 

2. Any one of the following: 

• Weddings 

• Birthdays 

• Baptisms 

• Holidays 

• Festivals 
3. Percussion 
4. Hit with the hand 
5. False 

 
 

Reading for Productivity Lesson 2 – Geography  

1. Food, clothing 

2. 120 

3. 6000 

4. False 

5.  

 

 

 

Reading for Productivity Lesson 3 – Science 

1. Wood, Stone 

2. Wood 

3. Possible answers: water bottles, toys, cups, packaging  

4. High 

5. Transparent 
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Reading for Productivity Lesson 4 – World Book Day 

1. Books, authors, illustrators and reading 

2.  

 

 

 

3. True 

4. Thursday 4th March 2021 

5. 1995 

 

Reading for Productivity Lesson 5 – Art 

1. Russia 

2. Colour  

3. 1922 

4. Millions of pounds 

5. Child’s own answer 

 

 

 

 

 

 

 

 


